The Global Impact of Container Inventory Imbalance and the Factors that Influence Container Inventory Management Strategies

- L. Edirisinghe* (edirisinghe@cinec.edu)

 Dalian Maritime University, China
- J. Zhihong (jinzhihong@dlmu.edu.cn)
 Dalian Maritime University, China

A.W. Wijeratne: (aw.wijeratne@gmail.com) Sabaragamuwa University of Sri Lanka

Abstract

Container shipping celebrates its 60th anniversary in 2016, as an innovation that had a tremendous impact on the global supply chain. This paper focuses on the impact of container inventory imbalance that mounts a substantial pressure on global supply chains. The primary objective of this paper is to explore best market practices and ascertain as to what factors influence these strategies. It also evaluates the impact of container inventory imbalance to the global supply chain. The study refers to interviews with industry experts and questionnaire responses from shipping lines operated in Sri Lanka in addition to the desk research to explain the impact of the container inventory problem in the global scale. If carriers provide the right quantity of containers demanded by exporters at the right location at the right time, the optimum supply chain performance could be guaranteed. The consequences of container fleet imbalances are ultimately borne by exporters, importers, consumers, traders and even—inadvertently—other players in the cargo supply chain of international trade. Therefore, carriers need an effective solution to the global container inventory imbalance problem.

Keywords: Container Inventory Imbalance, Freight, Forecasting, Flexibility, Strategy

INTRODUCTION

Global supply chain and Containerization

The container help reduce the global supply chain cost; however, the management of container inventory has become a serious concern with its gradual increase in volume over the past decades. Worldwide, empty containers account for approximately 20% of container flows at sea. Container inventory imbalances can primarily be attributed to global trade imbalances. Therefore, the core issue in the industry is the identification of the best method to minimize the idle time of containers, thus optimizing their utilization that will reduce supply chain cost substantially. Shipping is a business that grew up with the world economy exploring and exploiting the ebb and flow of trade (Stopford, 2009). Cross-border transportation is an engine to promote the foreign trade (Zhihong & Qi, 2012). The system, that proved its potential as an increasingly efficient and swift method of transport, led to greatly reduced transport costs, and supported a vast increase in international trade. It is needless to mention that the carrier actions, and their reactions to various market conditions particularly the demand for shipping have direct impact to supply chains. Some serious and recurring issues produce a degree of uncertainty which impact supply chain processes. Global container inventory imbalance is one of such problems that is part and partial of container shipping. This problem therefore needs closer look due to the ever increasing volumes of container shipping business.

A considerable amount of investments have been made in purchasing containers and vessels and building port infrastructures. (Dong, et al., 2013) Container ports provide the primary interface where physical exchange between buyers and sellers of containerized shipping capacity can be consolidated and realized (Yapa & Nottebooma, 2011). Containers are usually supplied to exporters for stuffing of cargo at respective ports by the agents of carriers (Some exporters have their own container fleet for private use and this study does not consider their practices). The containers have a useful life of about 12 to 15 years (Rodrigue, 2013) and the standard 20 foot container costs about \$2,000 to manufacture while 40 footer costs about \$3,000. Therefore, a twenty foot container costs \$1.71 per cubic feet to manufacture while a forty foot container costs \$0.80, which underlines the preference for larger volumes as a more effective usage of assets (Rodrigue, 2013). However, according to Alderton, (2004) the life expectancy of a container depends on many factors, but it is approximately 8 years and it frequently needed repairs and

maintenance. Technically, containers are governed by the ISO (the International Standards Organization) and the CSC (the Container Safety Convention). In 1968, the ISO defined a container as an 'article of transport equipment' (Alderton, 2004).

Efficient and effective management of empty containers (Song & Carter, 2009) and empty container repositioning is an important issue (Dong, et al., 2013) in the liner¹ shipping industry. The growing imbalance of containers globally creates a substantial additional expenses as well as environmental issues. The consequences of the container fleet imbalance are ultimately borne by Exporters, Importers, Consumers, Traders and even other players in the cargo supply chain of international trade inadvertently. Leading carriers have already implemented Container Imbalance Surcharge adding a direct cost to the consumer. Maersk Line, (2013) advised their customers that the Equipment Imbalance Surcharge was implemented due to an increasingly severe equipment imbalance at Toronto container yards, leading to significantly higher empty repositioning costs. Therefore finding a solution to mitigate such impact would benefit primary shippers, consignees and shipping lines and then countries, regions and whole world at macro level

There are no commonly accepted standard container inventory management (CIM) strategies adopted by carriers. The respective container controllers of carriers take CIM decisions based on their individual skills and competencies in managing the inventories. This is a serious concern for the industry because the industry hardly gets any learning curve advantage through the current CIM practices. Therefore, a problem exists at present as to what factors that influence the CIM strategies adopted by carriers.

This paper briefly evaluates the impact of container inventory imbalance to the global supply chain and reveals various CIM strategies adopted by carriers. Thereafter, it identifies the factors that influence the each CIM strategy that the carriers usually adopt under different market scenarios and as to what extent they are significant in CIM.

595

¹ A liner service is a fleet of ships, with a common ownership or management, which provide a fixed service, at regular intervals, between named ports, and offer transport to any goods in the catchment area served by those ports and ready for transit by their sailing dates (Stopford, 2009).

The findings may help practitioners to review their present practices and analyse the CIM problem in a boarder context. It helps them to gain the due learning curve advantage over the current practices to the industry as a whole that leads to effective and efficient CIM. An effective container inventory management system will optimize container inventory utilization and reduce the cost of empty container repositioning thereby enhances the effectiveness and efficiency of the global container supply chain.

LITERATURE REVIEW

Global Container Movement

One of the most striking developments in the global economy since World War II has been the tremendous growth in international trade (Bernhofen, et al., 2013). Once countries get embedded in the global supply chains they feel part of something much bigger than their own business (Friedman, 2005). By means of water-carriage more extensive market is opened to every sort of industry than what land-carriage alone can afford it (Smith, 1776). About 90% of world trade is carried by the international shipping industry (I.C.S., 2013). Water transportation systems provides low speed and relatively low accessibility, but extremly high capacities (Banks, 2004). Containerisation which changed everything was the brainchild of Malcom McLean, an American trucking magnate (The Economist, 2013). McLean understood that reducing the cost of shipping goods required not just a metal box but an entire new way of handling freight (Marc, 2006). Containerization which is believed to have developed after World War II has made a significant change globally in the system of freight transport. The first deep-sea container service was introduced in 1966 and in the next 20 years containers came to dominate the transport of general cargo, with shipments of over 50 million units per year (Stopford, 2009). Container inventory imbalance is a complex phenomena as it involves different sizes such as 20', 40', and 45' in sizes. Similarly, it comes in different types such as Standard, Open top, Flat rack, Reefer, Flat bed. The export and import markets are usually volatile and hard to predict accurately thus it is very difficult to maintain a balanced stock at a given location. Therefore, CSL may respond to the phenomena differently based on the container stock at a specific location at a given time.

Containers are not 'one time investment'. Alderton (2004) suggests that one of those years will be spent out of services for repairs.

Demand for container shipping services is derived from demand for container trade (Lai, et al., 2010). In other wards demand for containers is derived from the demand for movements of cargo by exporters and importers. Supplying of empty containers to exporters is an essential part of the chain in container shipping. The import and export volume is not equal with each other in the foreign trade of the world countries, so empty container repositioning problem is caused by trade imbalanced exactly because of the different economic needs in different regions (YUR & Esmer, 2011). As cited in Lai, et al., (2010) Demend for sea transport is derived from demand for goods to be transported (Jansson and Schneerson 1987). Container handling within the chain may be completed in numerous ways including the use of shipping agents (González-Torre, et al., 2013). As the demand for products increases so the demand for transport facilities will increase (Cole, 2006). The shipping market regulates shipping supply and demand. (Lai, et al., 2010). The worldwide demand for a container was about 15% that was higher than supply situation (Mhonyai, et al., 2013). Olivo et.al., (2005) consider that in a perfect world, empty movements would not exist because there would always be cargo to fill every container when and where it was emptied. (YUR & Esmer, 2011). Due to global trade imbalance, shipping companies tend to accumulate empty containers in import-dominant regions where they are not needed, whereas export-dominants face a shortage of this equipment. (Di Francesco, 2007).

As far as the supply side is concerned the owners of containers are primarily ocean carriers and leasing companies. The supply chain focus in today's marketplace is increasingly important (Kiessling & C_somez, 2012). Supplying of MTYs to exporters is an essential link of the chain in container shipping. However, it is very rare that a CSL has a naturally balanced container inventories (i.e. identical number in each size and type of containers that are imported as laden² units will be exported as laden containers).

597

² Container loaded with cargo

The container supply sources

There are three main sources of container inventory. (1) The laden container imports; (2) Empty container imports (or manufactured³ newly in the same port); and (3) Leased⁴ containers. Depending on carrier's business strategy, the amount of owned equipment can vary between 50% and 90%. Several operators, especially the smaller and regional lines rely 100% on rented boxes (Lai, et al., 2010). The most economical and efficient way is to reuse the containers that were arrived to the port with cargo (laden) from another port. The other option is to on hire containers from container leasing⁵ companies. Otherwise the carriers may send empty containers from a nearby port in order to cater to the exporters' requirement if time permit. MTY reuse is a strategy in which carriers try to match local export cargo with available containers (Lai, et al., 2010). If this is not possible the carrier may send empty containers from a nearby port in order to cater to the exporters' requirement if time permit. Third option is to on hire containers from container leasing⁶ companies. In the case of a shortage of containers in certain areas , carriers may sign master leasing contracts with leasing companies allowing shippers to pick up MTYs at areas they desire (Lai, et al., 2010)

The life expectancy of a container depends on many factors, but it is approximately 8 years and it frequently needed repairs and maintenance. Alderton (2004) suggests that one of those years will be spent out of services for repairs. There are other components in the container cost structure in which container imbalance contributes significantly.

Table1: Container costs

Container costs	Percentage share of total costs
Capital	32
Repair and refurbishment	25
Imbalance	22
Clearing and maintance	11
Insurance	10

³ Each year, about 2 to 2.5 million TEUs worth of containers are manufactured, the great majority of them in China, taking advantage of its containerized export surplus. (Rodrigue, 2013)

⁴ There are container leasing companies who supply containers on lease

⁵ Those who engage in leasing marine cargo containers to vessel operators and other organizations on a broad international basis

⁶ Those who engage in leasing marine cargo containers to vessel operators and other organizations on a broad international basis

Source: (Alderton, 2004)

Different repositioning policy may incur significantly different operational cost. (Dong, et al., 2013). This includes Port Handling Costs (PHC), Slot fee for the sea passage, land transport costs, ground rent and handing costs at CFS etc. In addition to those direct costs, the cost of wear and tear and cleaning etc. are also to be considered. It is needless to say that these costs would eventually result in higher transport charges to shippers and consignees thus high commodity prices owing to the additional costs that will be incorporated in the freight rates⁷ by CSL.

The increased attention by the researchers in the recent past shows the ever increasing impact of container imbalance to the world. For example only 14 publications were evident during 1972-2005 (33 years) compared to 50 publications during 2006-2011 (5 years) as revealed by YUR & Esmer (2011). Although the issue of empty container repositioning first attracted attention in the mid 90's, interest in this problem seems to have grown even further in the last five years. Considering the last five years as the pre- and post-global crisis period, the repositioning issue has gained even greater importance as various problems have been encountered in supplying empty containers. The literature review has revealed that 62 of the studies since 1972 have dealt with repositioning empty containers. 31 of such studies have appeared in journals, 22 of them seem to have published in conference proceedings, but the sources of 7 of them have not been reached.

In the modelling oriented analyses of the 62 studies published in various journals and conference and/or congress proceedings, two distinct methods approaches have been adopted. The studies analyzed have been categorized either as mathematical modelling or heuristic products. 50 of those studies analyzing the problem through mathematical modelling seem to have used such modelling techniques as numerical experiments, mathematical programming, genetic algorithms, regression analysis, simulation, integer programming, dynamic programming, statistics, linear programming, optimization programming, game theory and deterministic modelling. In the 12 heuristic studies, the methods used have been case study and literature review, and 1 of such studies seems to have preferred to use reverse logistics theory (YUR & Esmer, 2011).

599

⁷ Transport charge applied in the shipping industry

The research papers referred in YUR & Esmer, (2011) has been further analysed in order to ascertain the core issue that has been focused in those studies and summarised under five catagories. It is noted that majority of work is been done with respect to Empty Container Repositioning. This study, in contrast, focuses on minimizing of Empty Container Repositioning. It attempts to avoid as much as possible the necessity of repositioning. Only 9 papers were written on Empty Container Allocation while 05 on Empty Container Distribution. 12 papers have covered various aspects of Empty Container Management which is somewhat relevant to this study. There are 4 researches done on Empty Container Reuse which reflects the similar approach of this study because the researcher accept the fact that it is rather unrealistic to totally eliminate the imbalance therefore "reuse" will directly reduce the need for repositioning. There is only one paper concerning Foldable Containers referred in YUR & Esmer, (2011) which again represent a way of reducing the cost of repositioning but not reducing the need for trepositioning. Before 2009 most researchers only fixed their attention on the slot allocation for empty containers, often called empty container relocation problem. As cited in Qu, et al., (2013) Crainic et al. have raised two dynamic deterministic formulations to deal with the single and multicommodity cases; for empty container relocation they also put forward an ordinary model. Cheung and Chen adopted a two-stage stochastic network model to optimize the empty container relocation problem and ascertained the minimum quantity of leased containers. Feng and Changl used a two-stage model considering both inventory management and the nature of the shipping network to deal with the empty container relocation problem.

Empty container management model (Lun & Quaddus, 2009) consists of four key elements namely, Strategic planning; procurement of empty containers; movement of empty containers; and technical efficiency. Therefore, a comprehensive assessment on operating policies in Maritime Transport with respect to Container Utility would be vital in finding a solution to container imbalance problem in Sri Lanka. Also the results of this research may be relevant and important to any other country as well. The outcome of the study could also be extended for further research (Song & Carter, 2009). The research of (Dang, Nielsen, & Yun, 2013) focuses on the problem of positioning empty containers in a port area with multiple depots. Three options are considered: positioning from other overseas ports, inland positioning between depots and

leasing. According to YUR & Esmer, (2011) the aims of the studies which are used mathematical programming to solve empty container repositioning problem, minimize the total empty container repositioning costs and produce a optimistic estimation of empty container movements. But, because of dynamic and uncertain environment, it cannot eliminate the empty repositioning problem exactly and reveal a more imbalanced world trade and container shipping will have to face the challenges of empty repositioning. On the other hand, some authors prefer foldable containers solution to solve an empty container repositioning problem. According to these authors the foldable containers can contribute to substantial cost savings in empty container repositioning between the seaport and its hinterland (Konings & Thijs, 2001) and transhipment and storage costs. It was noted from the review of literature that previous studies predominantly contain various mechanisms to optimize the repositioning activity but not to reduce the number of container that needs to be repositioned. Researcher views this as a reactive approach rather than a proactive one. Therefore, there is a necessarily for more studies with the objective of reducing the number of empty containers that frequently pile up in various ports.

METHODOLOGY

The researchers are confident that results could be generalized for the benefit of global shipping communality given the maritime background in Sri Lanka. Seventeen out of top twenty CSL in the world operate regular services in the busiest commercial port in the country, Colombo; this is primarily due to the country's strategic geographic location. Approximately 75 percent of global container capacity is operated (alphaliner.com, 2014) by the said carriers. Therefore, the sample is expected to be fairly—reflective to the general view of the global shipping industry. The research approach has been three facets namely, desk research, interviews, and questionnaire survey. The study was conducted in Sri Lanka with the intention of generalizing its outcome in the global context.

Interviews with industry experts

This is the key source of identifying the CIM strategies that are practiced by carriers. Since CSL have no standard practices or commonly known strategies for CIM the only way to find out those is the depth interviews with those who closely involved in the container supply chain. The

interviews were conducted using five senior representatives (comprising administration, marketing, and container control and vessel operations departments) of CSL. However, in reality it was the responses from nearly 30 different views because each of the five respondents obtained at least six of their staff members of colleagues in the industry. The interviews were conducted during nearly one month period as a series of meetings took place with each respondent. Therefore, the researchers are confident about the comprehensiveness of data obtained. The responses were tabulated and the questions for the survey have been developed based on these information.

Questionnaire survey

Apart from the basic demographics of respondents the questionnaire consisted of 12 questions each concerning the factors that are expected to be influencing the CIM strategies (FIS) of carriers. Since the questions are not based on the literature a pilot survey has been carried out. Appropriate adjustments to the questions were made based on the results of the pilot survey.

RESULTS AND DISCUSSIONS

Desk research

There are two asymmetries evidenced in the global containers imbalance. Firstly, the asymmetry between domestic import containerized cargo movement and that of exports is the fundamental reason for the container imbalance of a given location. Reconciling the availability of containers in a distribution system where imports and exports logistics are very different is thus problematic, with an enduring problem to find available maritime containers inland. (Rodrigue, 2013). For example the external trade data of Sri lanka reveals approximately 65 percent of import crago volumes and 35 percent of export cargo in containers. This has resulted that the port of Colombo is usually floded with containers. Secondly, it should be noted that the type of containers also contributes to the final outcome and the imbalance problem. Following data represents the defference between the types of containers required by the exporters against that of imports in to Sri Lanka.

Table 2: Asymmetry of Inbound and Outbound container flows in Sri Lanka according to Container types

2013	% of 20GP	% of 40GP	% of 40HC	% of 45
Exports	47.75	15.47	35.51	01.28
Imports	64.06	07.77	28.03	0.14
Variation	+16.31	-07.70	-07.48	-01,14

(Source: unpublished industry data)

Key: (+) = Excess inventory; (-) = Deficit inventory

With respect to Sri Lanka, majority of imports (in containers) are 20's while the exports are predominantly stuffed in 40's. This factor is obvious when analyzing the goods that are moved in containers. In general, shipping commodities tends to rely on 20' containers (one TEU) simply because of that they can each load around 26 to 28 tons thus load approximately 55 tons in two 20' containers (2 TEUs). In contrast one 40'container (2 TEUs) has a loading capacity of only about 30 tons due to structural integrity issues. But this argument should be reversed when the volume of cargo supersedes the weight of cargo. This is the very reason that leads to discriminations between certain commodities in the 20' or 40' container choice. The major export movements in Sri Lanka attract 40 footers than 20's simply because they are volume cargo. Major commodities such as Garments and Tea need more capacity in volumes than weight larger container sizes, notably the "40 footer". Larger sizes confer economies of scale in loading, handling and unloading, which are preferred for long distance shipping as well as by customers shipping large batches of containerized commodities. (Rodrigue, 2013)

Based on the results of interviews it concluded that six strategies are being extensively used by carriers in the container inventory management. These container inventory management strategies include Freight Drop Import; Freight Drop Export; Service Agreements; Budget Synchronize; Inventory Agile; and Priority export.

Table3: Descriptive Statistics of CIM Strategies

Strategy	Minimum	Maximum	Mean	Std. Deviation
Freight Drop Import	0	4	2.51	1.088
Freight Drop Export	0	5	2.74	1.289
SVC Agreements	0	5	2.67	1.199
BGT Synchronize	-2	5	2.49	1.332
Inventory Agile	-3	3	2.19	1.562
Priority export	-2	3	1.36	1.595

The questionnaire survey considers the factors that influence the above mentioned container inventory management strategies.

Regression analyses on twelve questions have been carried out to determine the significance of these factors to the various practices. Based on that analysis, only ten of the factors were found to be significant.

Table 4: The factors that may influence carriers CIMS

No.	Factors that are potentially influencing the CIM strategies (FIS)
Q1	The strength of retaining customers irrespective of non availability of containers (Cost of Customers)
Q2	Impact on brand name due to inconsistency of container availability (Impact on Brand)
Q3	The threat caused by container shortage to the sustainability of service (Threat on Service)
Q4	The degree of confidence to perform budgeted exports/imports (Loss of Revenue)
Q5	Comfort on freight (Slot cost) incurred on empty repositioning (Empty Slot Cost)
Q6	Port handing cost incurred on empty repositioning (Empty Port Handling)
Q7	High rent involved at Container Freight Stations (CFS) or port for storage of containers (Cost of Rent)
Q8	Comfort on empty container handling cost at CFS (Cost of Yard)
Q 9	The degree of possibility of achieving ROI-return on investment of containers belong to the shipping
	line
Q10	Comfort on repair and painting cost due to rust etc as a result of long storage (Ware and Tare cost)
Q11	The container idle time at a named location (Minimum Idle Time)
Q12	Vessel under utilization in certain ports due to non availability of containers (Vessel underutilization)

Initially the correlation analysis was performed and found the correlations are significant in following combinations. Freight Drop Import is found statistically significant with the loss of Revenue; cost of Yard; and the vessel underutilization. This signifies that the degree of confidence to perform budgeted exports/imports by carriers; the comfort on empty container handling cost at CFS; and the vessel under utilization in certain ports due to non availability of containers has an impact on freight drop import. Freight Drop Export is influenced by the strength of retaining customers irrespective of non availability of containers; impact on brand

name due to inconsistency of container availability; and the threat caused by container shortage to the sustainability of service. In other words, the variable Freight Drop is found statistically significant with cost of customers; impact on Brand; and the threat on service. SVC Agreements is statistically significant with the threat caused by container shortage to the sustainability of service. BGT Synchronize and the impact on brand name due to inconsistency of container availability are significantly correlated. Similarly the Vessel underutilization is correlated. The vessel under utilization in certain ports due to non availability of containers is common occurrence with many lines. The variable, inventory agile does not show statistically significant correlation with any of the independent variables. This obviously means that there is no impact to the CIM stagey from the status of inventory. i.e. whether to have lean inventory or agile inventory is not a matter. Priority export show a statistically significant correlation with the port handing cost incurred on empty repositioning. This means that cost of carriers' empty port handling makes an impact on the respective carrier giving priority for exports. Thereafter, the researchers carried out the regression analysis with using the stepwise command to identify the major factors which are highly effective on separate CIM strategies.

Reduce Freight rates for Imports into the deficit locations (Freight Drop- Import):

Table 5 shows the regression results between Freight Drop Import (dependent variable) and COC, COY, ESC, ARI, COR, MIT, LOR, EPH (independent variables). The F statistic is significant at 0.000 (<0.05) for all variables in the table. The relationship between the two variables of each case is negative.

Table5: Regression Analysis of Freight Drop Import

Regression equation	Predictor	Coefficient	Standard	T	P	F	P
FRTdropI =			error				
5.63 - 1.32 Q1	constant	5.63	0.218	25.78	< 0.001	222.43	< 0.001
	Q1	-1.32	0.088	-14.91	< 0.001		
3.07 - 0.694 Q8	constant	3.07	0.086	35.92	< 0.001	151.85	< 0.001
	Q8	-0.69	0.056	-12.32	< 0.001		
4.67 - 0.844 Q5	constant	4.67	0.222	21.03	< 0.001	108.70	< 0.001
	Q5	-0.84	0.081	-10.43	< 0.001		
5.08 - 1.02 Q9	constant	5.08	0.342	14.86	<0.001	61.04	<0.001

13th International Conference on Business Management 2016

	Q9	-1.02	0.130	-7.81	< 0.001		
5.11 - 1.05 Q7	constant	5.11	0.399	12.84	< 0.001	45.48	< 0.001
	Q7	-1.05	0.156	-6.74	< 0.001		
3.80 - 0.528 Q11	constant	3.80	0.288	13.21	< 0.001	23.45	< 0.001
	Q11	-0.53	0.109	-4.84	< 0.001		
6.13 - 1.11 Q4	constant	6.13	0.802	7.64	< 0.001	20.74	< 0.001
	Q4	-1.11	0.244	-4.55	< 0.001		
5.08 - 0.987 Q6	constant	5.08	0.622	8.17	< 0.001	17.61	< 0.001
	Q6	-0.99	0.235	-4.20	< 0.001	-	

Accordingly, Freight Drop -Import and the carriers' strength of retaining customers (despite non availability of containers) are inversely related. In other words the more the strength that carrier has to retain customers irrespective of the marketing disadvantages of container shortage, the lesser it will be interested in reducing freight for imports to the port in question. The similar approach with respect to the Carrier's ability to negotiate a lower empty container handling cost at CFS (Cost of Yard); and freight (Slot cost) for empty repositioning (Empty Slot Cost) could be seen in above analysis. Other variables that the F statistic is significant at 0.000 (<0.05) namely, The degree of possibility of achieving ROI-return on investment of containers belong to the shipping line; Comfort on rent involved at CFS or port for storage of containers (Cost of Rent); The strength to maximise the utilization of containers through minimizing idle time; The degree of confidence to perform budgeted exports/imports (Loss of Revenue); and Comfort on port handing cost incurred on empty repositioning (Empty Port Handling) explain a negative relationship. And in this case these five predictors show negative relationship with the carriers' CIM strategy of reducing freight for imports to the port in question. When the degree of possibility of achieving ROI of containers is lower the carriers tend to apply more freight reductions on imports to the respective location. Similarly, when the rent involved at CFS or port for storage of containers (Cost of Rent) is lower, they will offer more freight reductions for imports. According to the above analysis, if the container idle time of a carrier at a given port is lower, it attracts more 'freight drop' mechanisms on imports to that port. When the degree of confidence of carriers to perform budgeted exports/imports (Loss of Revenue) is lower and that leads to more freight reduction activities on imports. Last but not least, when the port handing

cost incurred for empty repositioning (Empty Port Handling) is lower, it would increase the occurrence of freight drop actions for imports to the respective location by the carriers.

Reduce Freight rates for Exports from the excess locations (Freight Drop-Export):

Similar to the previous strategy, carriers also strategically reduce freight rates for their exports originated from a particular port in order to control the container inventory imbalance. This is considered as more of a reactive approach because it is usually implemented when the port accumulates empty containers due to some unexpected changes in the market. It was noted that except for the Q 3 The strength of sustainability of service (Threat on Service) all other predictors that were found significant.

According the table 6 the regression results are statistically significant. It shows the regression results between Freight Drop- Export and COC, COY, ESC, ARI, COR, MIT, LOR, EPH, TOS. The F statistic is significant at P < 0.001 for all variables in the table. The relationship between the two variables of all cases are negative (except Q3 which is positively related) and significant at P < 0.001

Table.6 Regression Analysis of Freight Drop-Export

Regression equation	Predictor	Coefficient	Standard	T	P	F	P
FRTdropE =			error				
6.16 - 1.45 Q1	constant	6.16	0.311	19.79	< 0.001	123.14	< 0.001
	Q1	-1.45	0.126	-11.50	< 0.001		
3.32 - 0.727 Q8	constant	3.32	0.123	26.96	< 0.001	80.23	< 0.001
	Q8	-0.73	0.081	-8.96	< 0.001		
4.96 - 0.870 Q5	constant	4.96	0.309	16.06	< 0.001	59.73	< 0.001
	Q5	-0.87	0.113	-7.73	< 0.001		
5.40 - 1.05 Q9	constant	5.40	0.445	12.15	< 0.001	38.85	< 0.001
	Q9	-1.05	0.170	-6.23	< 0.001		
5.46 - 1.10 Q7	constant	5.46	0.504	10.84	< 0.001	31.27	< 0.001
	Q7	-1.10	0.197	-5.59	< 0.001		
6.98 - 1.31 Q4	constant	6.98	0.954	7.32	< 0.001	20.23	< 0.001
	Q4	-1.31	0.290	-4.50	<0.001		

4.02 - 0.526 Q11	constant	4.02	0.357	11.25	< 0.001	15.12	< 0.001
	Q11	-0.53	0.135	-3.89	< 0.001		
5.53 - 1.08 Q6	constant	5.53	0.75	7.37	< 0.001	14.36	< 0.001
	Q6	-1.08	0.284	-3.79	< 0.001		
- 2.67 + 1.41 Q3	constant	-2.67	1.510	-1.77	< 0.001	12.94	0.001
	Q3	1.41	0.391	3.60	< 0.001	_	

Long term Service Agreements with Customers (SVC Agreements):

Table 7 illustrates the regression results between Service Agreement strategy and LOR, COY, ARI, LOR, COR, ESC, WTC, EPH, MIT. The model shows lower R² for those predictors however the F statistic is significant at <0.05 for all variables in the table. The relationship between the strategy (dependent variable) and predictor (independent variables) of each case is statistically significant at <0.05 and positive related. The carriers' ability to negotiate more beneficial terms with stakeholders mentioned above such as port, CFS will tend to attract more long term service contacts with customers.

Table 7 Regression Analysis of SVC Agreements

Regression equation	Predictor	Coefficient	Standard	T	P	F	P
SVCagr =			error				
- 1.76 + 1.49 Q1	constant	-1.76	0.875	-2.02	0.047	17.62	< 0.001
	Q4	1.49	0.355	4.20	< 0.001		
1.12 + 0.784 Q8	constant	1.12	0.302	3.70	< 0.001	15.54	< 0.001
	Q8	0.78	0.199	3.94	< 0.001		
- 1.08 + 1.12 Q9	constant	-1.08	0.963	-1.12	< 0.001	9.36	0.003
	Q9	1.12	0.366	3.06	< 0.001		
- 3.81 + 1.71 Q4	constant	-3.81	1.886	-2.02	0.047	8.85	0.004
	Q4	1.71	0.575	2.98	0.004		
- 1.18 + 1.19 Q7	constant	-1.18	1.061	-1.11	0.269	8.15	< 0.001
	Q7	1.19	0.415	2.86	0.006		
- 0.030 + 0.697 Q5	constant	-0.30	0.743	-0.04	0.968	6.61	< 0.001
	Q5	0.70	0.271	2.57	0.012		
- 2.55 + 1.43 Q10	constant	-2.55	1.700	-1.50	0.138	6.57	0.013
	Q10	1.43	0.557	2.56	< 0.001		
- 1.66 + 1.31 Q6	constant	-1.66	1.467	-1.13	0.261	5.60	0.021
	Q6	1.31	0.555	2.37	0.021		
0.248 + 0.618 Q11	constant	0.25	0.701	0.35	0.725	5.40	0.023
	Q11	0.62	0.266	2.32	< 0.001		

Synchronize the Annual Budget with Monthly import/export Forecast (BGT Synchronize):

As explained elsewhere before, shipping forecasts are directly related to the global trading patterns. Carriers are used to work very closely with their agents in every port/location to derive the most realistic forecast on long, medium and short term basis. When the annual budget of each agent is synchronized with these forecasts agents are heavily and consistently accountable to perform with no or least variation from each other. Some carriers expect their agents to maintain 90-95 % consistency between the annual budget and the cumulative export/import monthly forecasts. The regression results between Budget synchronization strategy and COC, ESC, EPH, ARI, COR, MIT are tabulated in table8.

Table 8: Regression Analysis of (BGT Synchronize)

Regression equation	Predictor	Coefficient	Standard	T	P	F	P
bdgt syncro =			error				
- 2.60 + 1.73 Q1	constant	-2.60	0.830	-3.13	0.003	26.44	< 0.001
	Q1	1.47	0.372	3.95	< 0.001		
- 4.23 + 1.76 Q4	constant	-4.23	1.870	-2.26	0.027	9.52	0.003
	Q4	1.76	0.570	3.09	0.003		
- 0.884 + 0.927 Q5	constant	-0.89	0.712	-1.24	0.219	12.77	0.001
	Q5	0.92	0.260	3.57	0.001		
- 1.53 + 1.16 Q6	constant	-1.53	1.473	-1.04	0.303	4.33	0.041
	Q6	1.16	0.556	2.08	0.041		
- 1.81 + 1.31 Q9	constant	-1.81	0.935	-1.94	0.056	13.49	< 0.001
	Q 9	1.31	0.355	3.67	< 0.001		
- 1.94 + 1.38 Q7	constant	-1.94	1.033	-1.88	0.065	11.74	0.001
	Q7	1.39	0.404	3.43	0.001		
0.772 + 0.887 Q8	constant	0.77	0.291	2.65	0.010	21.46	< 0.001
	Q11	0.89	0.191	4.63	< 0.001		

Maintaining agile Container Inventory Irrespective of Cost (Inventory Agile):

The liner shipping industry faces a huge competition between carriers. Therefore, container carriers are usually very careful about the customer care. Shipping is a derived demand of international trading thus volatile in nature. Therefore, carriers always try to maintain agile container inventory levels considering the volatile nature of demand for shipping. It was noted that except for the Q 3 (the strength of sustainability of service) all other predictors in the 9 are inversely related.

The regression results between Inventory Agile and COC, COY, ARI, ESC, COR, MIT, LOR, EPH are tabulated in the table. The F statistic is significant at 0.000 for all variables (except 0.006 for Q 6) in the table. The relationship between the two variables of all cases are negative (except Q3 which is positively related) and significant at 0.000 (<0.05).

Table 9: Regression Analysis of Inventory Agile

Regression equation INVTagile =	Predictor	Coefficient	Standard error	T	P	F	Р
6.50 - 1.92 Q1	constant	6.50	0.399	16.31	< 0.001	140.86	0.000
	Q1	-1.92	0.162	-11.87	< 0.001		
2.82 - 1.05 Q8	constant	2.82	0.139	20.26	< 0.001	131.57	< 0.001
	Q8	-1.05	0.092	-11.47	< 0.001		
6.23 - 1.69 Q9	constant	6.23	0.495	12.58	< 0.001	80.09	< 0.001
	Q9	-1.69	0.188	-8.95	< 0.001		
5.03 - 1.20 Q5	constant	5.03	0.386	13.05	< 0.001	72.54	< 0.001
	Q5	-1.20	0.141	-8.52	< 0.001		
6.27 - 1.74 Q7	constant	6.27	0.589	10.94	< 0.001	56.84	< 0.001
	Q7	-1.74	0.231	-7.54	< 0.001		
7.95 - 1.84 Q4	constant	7.95	1.219	6.52	< 0.001	24.53	< 0.001
	Q4	-1.84	0.371	-4.95	< 0.001		
3.81 - 0.755 Q11	constant	3.81	0.457	8.34	< 0.001	19.02	< 0.001
	Q11	0.76	0.173	-4.36	< 0.001		
- 5.33 + 1.90 Q3	constant	-5.33	1.963	-2.72	< 0.001	13.97	< 0.001
	Q3	1.90	0.508	3.74	< 0.001		
4.79 - 1.09 Q6	constant	4.79	1.023	4.69	< 0.001	7.87	0.006
	Q6	-1.09	0.387	-2.81	< 0.001		

The regression results between Inventory Agile and COC, COY, ARI, ESC, COR, MIT, LOR, EPH are tabulated below. The F statistic is significant at P < 0.001 for all variables in the table. The relationship between the two variables of all cases is negative (except Q3 which is positively related)

The threat caused by container shortage to the sustainability of service (Threat on Service) and the Inventory Agile strategy shows statistically significant (P= 000) positive relationship. In other words, when there are greater threats to carriers in terms of service sustainability, it will tend to hold highly agile inventory thus provide uninterrupted service to customers. In the meantime, other variables namely, high rent involved at Container Freight Stations (CFS) or port for storage of containers (Cost of Rent); the degree of confidence to perform budgeted exports/imports (Loss of Revenue); the container idle time at a named location (MIT) and the

carriers ability negotiate effective port handing cost incurred on empty repositioning (Empty Port Handling) have statistically significant inverse relationships with the strategy of agile inventory.

Give Priority for Exports irrespective of any associated Cost (Priority Export):

The F statistic is significant at 0.000 to 0.043 (<0.05) for all variables in the table. The relationship between the two variables of each case is negative and significant at 0.000 (<0.05). According to the 10 the regression results are statistically significant.

Table 10: Regression Analysis of Priority Export

Regression equation PRTexp =	Predictor	Coefficient	Standard error	T	P	F	Р
- 0.393 + 0.884 Q8	constant	-0.39	0.366	-1.07	0.286	13.48	< 0.001
	Q8	0.88	0.241	3.67	< 0.001		
- 3.74 + 1.64 Q7	constant	-3.74	1.244	-3.00	0.004	11.36	0.001
	Q7	1.64	0.487	3.37	< 0.001		
- 3.34 + 1.45 Q9	constant	-3.34	1.139	-2.93	< 0.001	11.14	0.001
	Q 9	1.45	0.433	3.34	< 0.001		
- 3.08 + 1.44 Q1	constant	-3.08	1.091	-2.82	< 0.001	10.58	0.002
	Q1	1.44	0.443	3.25	< 0.001		
11.3 - 2.84 Q3	constant	11.25	3.391	3.32	0.001	10.49	0.002
	Q3	-2.84	0.878	10.49	< 0.001		
- 2.18 + 0.978 Q5	constant	-2.18	0.873	-2.50	< 0.001	9.45	0.003
	Q5	0.98	0.318	3.07	0.003		
- 1.29 + 0.662 Q11	constant	-1.29	0.846	-1.53	0.132	4.27	0.043
	Q11	0.66	0.321	2.07	0.043		

In this strategy carriers tend to give priority for exports originated from a particular port and take all operational decisions pertaining to containers in order to facilitate those efforts. It was noted that when the idle time of containers at a given port is high the carriers tend to give higher priorities for exports from that location.

Conclusions

Ninety six percent of respondents consider CII as a serious issue but only 58% have a standard CIM policy. Moreover, only 42% of carrier representatives are satisfied with the existing CIM policy. These basic statistics give a clear indication that container shipping lines needs to

develop a proper CIM system to bridge the industry gap. Apart from the direct cost of empty container repositions it also increases the carbon footprint through excessive transport. If carriers prioritise this as a pressing issue and reduce the ever increasing cost of empty reposition through effective and efficient CIM system, it will bring immense benefit to respective carriers initially and then to the domestic market and finally to the global shipping community. It subsequently help reduce environmental hazard due to empty container logistics issues. Shipping is a derived demand of international trading; therefore these benefits will ultimately help reduce the consumer prices of the world. Thus, carriers have a social responsibility towards reducing the empty container reposition through an effective CIM system.

REFERENCES

Acciaro, M. (2011). Pricing in sustainable global container transport. *International Journal of Decision Sciences, Risk and Management*, 3(3/4), 293 - 310.

Ahman, S., & Tidstrom, A. (2006). The process of ending inter-organizational cooperation. *Journal of Business & Industrial Marketing*, 21/5 (5), 281–290.

Akca, N. (2013, 11 18). *Collapsible Containers*. Retrieved 08 01, 2014, from http://morethanshipping.com/collapsible-containers/

Alderton, P. M. (2004). Reeds Sea Transport Operation and Economics (Fifth ed.). London: Adlard Coles Nautical.

Alkire, S., & Santos, M. E. (2011, 10). *The Multidimensional Poverty Index (MPI)*. Retrieved 07 18, 2015, from http://www.ophi.org.uk/wp-content/uploads/MPI_TrainingMaterial_23Nov2011.pdf

Alphaliner. (2011, 03 11). Container shortage to hit shippers . Weekly Newsletter.

Alphaliner. (2014, 03 25). *www.alphaliner.com*. (Alphaliner) Retrieved 03 25, 2014, from http://www.alphaliner.com/top100/index.php

alphaliner.com. (2016, 09 30). *Alphaliner - TOP 100*. Retrieved 07 19, 2016, from Alphaliner: http://www.alphaliner.com/top100/

alphaliner.com. (2016, 11 14). *Alphaliner top 100*. (www.alphaliner.com) Retrieved 11 14, 2016, from http://www.alphaliner.com/top100/

Aserkar, R. (2007). Logistics in International Business (2 ed.). Mumbai: Shroff Publication & Distributiors Pvt. Ltd.

Bandeira, D. L., Becker, J. L., & Borenstein, D. (2009). A DSS for integrated distribution of empty and full containers. *Decision Support Systems*, 47(4), 383–397.

Banks, J. H. (2004). Introduction to Transportation Engineering (2 ed.). New York: McGraw-Hill.

Barro-Tores, S. J., Ferdinandez-Carames, T. M., Gonzalez-Lopez, M., & Escudero-Cascon, C. J. (2010). Maritime Freight Container Management System Using RFID. Cartagena: The Third International EURASIP Workshop on RFID Technology. Retrieved from

http://gtec.des.udc.es/web/images/pdfConferences/2010/eurasiprfid_barro_2010.pdf

Belmecher, F., Cagniart, T., Amodeo, L., Yalaoui, F., & Prins, C. (2009). Modelling and optimization of empty container reuse: a real case study. 2009 International Conference on Computers & Industrial Engineering. France.

Benson, J., & Dresdow, S. (2003). Discovery mindset:a decision- making model for discovery and collaboration. *Management Decision*, 41(10), 997-1005.

Bergqvist, R., & Monios, J. (2014). The Role of Contracts in Achieving Effective Governance of Intermodal Terminals. *World Review of Intermodal Transportation Research*, 5(1), 18-38.

Bernhofen, D. M., El-Sahli, Z., & Kneller, R. (2013, 02 03). *Estimating the effects of the container revolution on world trade1*. Lund: Lund University -Department of Economics -School of Economics and Management. Retrieved 04 18, 2104, from http://economics.fiu.edu/events/2013/seminar-daniel-bernhofen/bek container feb-3-2013.pdf

Bingzhou, L. (2008). A stochastic model for dynamic capacity allocation of container shipping two-dimensional revenue management. 2008 International Conference on Service Systems and Service Management. Melbourne.

BMI. (2012). Japan Shipping Report Q2 2012. London: Business Monitor International Ltd.

Bocheng, C., Wenhuang, L., Yingjie, L., Yangdi, Ip, W., & Gaoyuan, C. (2008). The Analysis to Lead-Time Difference of Exporting Containers Between Hong Kong and Yantian Port. *IEEE International Conference on Service Operations and Logistics, and Informatics*. Beijing.

Boile, M., Theofanis, S., & Mittal, N. (2004). Empty Intermodal Containers - A Global Issue. Evanston Illinois: Transportation Research Forum, 45th Annual Forum.

Borade, A. B., & Bansod, S. V. (2012). Vendor Managed Inventory practices in Indian SMEs: select differences in manufacturing and service sector. *Int. J. of Logistics Systems and Management*, 11(4), 450 - 472.

Borden, N. H. (1984). The Concept of the Marketing Mix. *Journal of Advertising Research, Classics, II*(September), 7-12.

Bose, S., Kannan, V., & Kannan, N. (2012). Improving the service quality of ocean container carriers:an Indian case study. *Benchmarking: An International Journal*, 19 (6), 709-729.

Brito, M. P., & Konings, R. (n.d.). *Container management strategies to deal with the East-West flows imbalance*. Retrieved April 26, 2013, from

 $http://www.fucam.ac.be/S\%C3\%A9minaires, \%20conf\%C3\%A9rences\%20et\%20colloques/Nectar/images/debrito_konings.pdf$

Bu, X., Jiang, J., & Xu, X. (2012). Option contract pricing policy of the sea cargo forwarders with empty container reposition. *International Conference on Service Systems and Service Management (ICSSSM)*. Shanghai.

CASA Per. Review. (2015). Circular to the members -No. 09/2014. Colombo: Ceylon Association of Shipping Agents/SLPA.

Caschili, S., & Medda, F. R. (2012). A Review of the Maritime Container Shipping Industry as a Complex Adaptive System. *Interdiciplinary Description of Complex Systems*, 10(1), 1-15.

Ceylon Association of Ships' Agents. (2013). CASA Performance Review. Colombo: CASA/SLPA.

Chandoul, A., Cung, V.-D., & Mangione, F. (2009). Optimal Repositioning and Purchasing Policies in Returnable Container Management. *IEEE International Conference on Industrial Engineering and Engineering Management*. Hong Kong.

Chaneta, I. (2012). Organization Behaviour and Its Analysis Between Individuals and Group in an Organization. *Journal of Comprehensive Research*, 8(August), 13-18.

Cheng, ,. Y., Tan, J., & Lin, W.-H. (2013). Allocating the cost of empty railcar miles in a dynamic railroad network. *International Journal of Shipping and Transport Logistics*, *5*(3), 350 - 366.

Chiadamrong, N., & Wajcharapornjinda, P. (2012). Developing an economic cost model for quantifying supply chain costs. *Int. J. of Logistics Systems and Management*, 13(4), 540 - 571.

Chiang, J. (2013). Outlook of global container port market with a focus on Asia. 11th ASEAN Port and Shipping 2013-Philippines: Drewry Maritime Advisors.

Chidiac, M.-A. (2013). An organisational change approach based on Gestalt psychotherapy theory and practice. *Journal of Organizational Change Management*, 26(3), 458-474.

choong, S. T., Cole, M. H., & Kutanoglu, E. (2013). Empty container management for intermodal transportation networks. *Transportation Research Part E: Logistics and Transportation Review; sciencedirect.com*, 38(6), 423–438.

Chou, C.-C., Gou, R.-H., Tsai, C.-L., Tsou, M.-C., Wong, C.-P., & Yu, H.-L. (2010). Application of a mixed fuzzy decision making and optimization programming model to the empty container allocation. *Applied Soft Computing*, 10(4), 1071-1079.

Cole, S. (2006). *Applied Tranport Economics - Policy.Management and Decision Making* (Fist South Asian Edition ed.). New Delhi: Kogan Page India.

Cooper, R. B. (1981). Introduction to Queueing Theory (2 ed.). New York: Elsevier North Holland, Inc.

Cudahy, B. J. (2006). Box Boats How Container Ships Changed the World (1 ed.). New York: Fordham University Press.

Dang, Q.-V., Nielsen, I. E., & Yun, W.-Y. (2013). Replenishment policies for empty containers in an inland multidepot system. *Maritime Economics & Logistics*, 15(1), 120-149.

Dang, Q.-V., Yun, W.-Y., & Kim, H.-W. (2010). Positioning Empty Containers under Dependent Demand. 2010 40th International Conference on Computers and Industrial Engineering. Japan.

Di Francesco, M. (2007). New Optimization Models for Empty Container Management. Retrieved 06 23, 2014, from http://veprints.unica.it/107/1/di_francesco_massimo.pdf

Diaz, A., Solis, L., & Claes, B. (2011). Improving logistics and supply chain management in Spain: An analysis of current practices and future requirements. *Int. J. of Logistics Systems and Management*, 9(2), 150 - 169.

Diaz, R., Talley, W., & Tulpule, M. (2011). Forecasting Empty Container Volumes. *The Asian Journal of Shipping and Logistics*, 27(2), 217-236.

Dong, J.-X., Xu, J., & Song, D.-P. (2013). Assessment of empty container repositioning policies in maritime transport. *The International Journal of Logistics Management*, 24(1), 49-72.

Edirisinghe, L., & Muller, S. (2013). Converting Sri Lanka into a Commercial Hub in Asia An assessment of postwar progress with insights to the way forward - A Case Study. *General Sir John Kothelawala Defense University International Research Conference*. Colombo.

Edirisinghe, L., Zhihong, J., & Wijeratne, A. (2015). Evaluation Of Expected Payoff Through Container interchange between shipping lines: a solution to container inventory imbalance in Sri Lanka. *Int. J. Logistics Systems and Management*, 21(4), 503-533.

Epstein, R., Neely, A., Weintraub, A., Valenzuela, F., Hurtado, S., Gonzalez, G., . . . Yung, D. (2012). A Strategic Empty Container Logistics Optimization in a Major Shipping Company. *Interfaces*, 42(1), 5–16.

Erakovich, R., & Anderson, T. (2013). Cross-sector collaboration:management decision and change model. *International Journal of Public Sector Management*, 26(2), 163-173.

Feng, C.-M., & Chang, C.-H. (2010). Optimal slot allocation with empty container reposition problem for Asia ocean carriers. *Int. J. of Shipping and Transport Logistics*, 2(1), 22 - 43.

Feyzioglu, O., Buyukozkan, G., & Arsenyan, J. (2011). Modeling Collaboration Formation with a Game Theory Approach. U.K.: World Congress on Engineering.

FMC. (2012). Study of the 2008 Repeal of the Liner Conference Exemption from European Union Competition Law. Bureau of Trade Analysis. Washington, DC: Federal Maritime Commission.

Francesco, M. D., Olivo, A., & Zuddas, P. (2009). *Empty Container Logistics Repositioning and Optimization Models*. Marston Gate: VDM Verlag Dr. Muller.

Friedman, T. L. (2005). *The World is Flat A Brief history of the Twenty-First Century* (First ed.). New York: Farrar, Straus and Giroux.

Fugate, B. S., Davis-Sramek, B., & Goldsby, T. J. (2009). Operational collaboration between shippers and carriers in the transportation industry. *The International Journal of Logistics Management*, 20(3), 425-447.

Gorane, S. J., & Kant, R. (2014). Supply chain practices: study and framework for future development. *Int. J. of Logistics Systems and Management*, 17(1), 83 - 103.

Hanh, L. D. (2003). *The Logistics of Empty Cargo Containers in the Southern California Region. Final Report.* Long Beach, CA.: Metrans.

Hao, Q., Muehlbacher, J., & Kasper, H. (2012). How does organizational structure influence performance through learning and innovation in Austria and China. *Chinese Management Studies*, 6(1), 36-52.

Hawkins, D., & Little, B. (2011). Embedding collaboration through standards-the key aspects of BS 11000 – part 2. *j Industrial and Commercial Training*, 43(4), 239-246.

Hughes, J., & Weiss, J. (2007, November). *Simple Rules for Making Alliances Work*. Retrieved 04 11, 2014, from Harvard Business Review: http://hbr.org/2007/11/simple-rules-for-making-alliances-work/ar/1

I.C.S. (2005). *The Institute of Charetered Shipbrokers - Economics of Sea Transport.* London: Witherby & Company Ltd.

I.C.S. (2013). *International Chamber of Shipping*. Retrieved May 06, 2014, from http://www.ics-shipping.org/shipping-facts/shipping-facts

ICSC. (1972, December 2). *International Convention for Safe Containers*. Retrieved June 18, 2013, from Admiralty and Maritime Law Guide.

Ii, Z., Hongwei, D., Wei, W., & Xiaoqing, W. (2012). A container off hire allocation model with prioritization for shipping lines. *International Conference on Service Operations and Logistics, and Informatics (SOLI)*. Suzhou.

International Chamber of Shipping. (2014). Shipping, World Trade and the Reduction of CO2 Emissions United Nations Framework Convention on Climate Change (UNFCCC). London: International Chamber of Shipping.

International Maritime Organization. (2009). *Second IMO GHG Study* 2009. London: International Maritime Organization.

Islam, S., Arthanari, T., & Olsen, T. (2010). Empty Container-truck Movement Problem: At Ports of Auckland. Auckland: University of Auckland.

Išoraltė, M. (2009). Importance of Strategic Alliances In Company's Activity. Intellectual Economica, 1(5), 39-46.

Kang, T. W., Ju, S. M., & Liu, N. (2012). Research on the empty container transportation management innovation for import and export enterprises. *International Symposium on Management of Technology (ISMOT)*. Hangzhou.

Karmelic, J., Dundovic, Č., & Kolanovic, I. (2012). Empty Container Logistics. *Transport Logistics Review - Traffic & Transportation*, 24(3), 223-230.

Kathleen, J. S. (2016). www.kpit.com. Retrieved 10 20, 2016, from https://www.kpit.com/search.php?cx=002791226943158673312%3Ajhkvkoeudrk&cof=FORID%3A9&ie=UTF-8&Search=container+management+system

Ke, X., Zhou, H., Jin, N., Wan, X., & Zhao, J. (2008). Establishment of Containers Management System Based on RFID Technology. *International Conference on Computer Science and Software Engineering*. Wuhan.

Ker, S. (2011, October 12). *Greyslot*. Retrieved May 02, 2013, from http://www.ourwordourbond.net/ShippingNetwork/no-1-issue2/advertisers/greyslot.htm

Khisty, C., & Lall, B. (2006). *Transportation Engineering An Intriduction* (3rd ed.). New Delhi: Prentice-Hll of India Private Ltd.

Kiessling, T., & C_somez, N. (2012). Joint inventory and constant price decisions for a continuous review system. *International Journal of Physical Distribution & Logistics Management*, 42(2), 174-202.

Konings, R. (2005). Foldable Containers to Reduce the Costs of Empty Transport? A Cost–Benefit Analysis from a Chain and Multi-Actor Perspective. *Maritime Economics & Logistics*, 7(2005), 223–249.

Konings, R., & Thijs, R. (2001). Foldable Containers: a New Perspective on Reducing Container-Repositioning Costs Technological, logistic and economic issues. *European Journal of Transport and Infrastructure Research*, *1*(4), 333 - 352.

Kumar, G., & Banerjee, R. N. (2012). Collaboration in supply chain An assessment of hierarchical model using partial least squares (PLS). *International Journal of Productivity and Performance Management*, 61(8), 897-918.

Lagoudis, I. N., Fragkos, S. N., & Litinas, N. A. (2010). Estimating optimum container and vessel fleet sizes in a cyclic liner service using a holistic approach. *Int. J. of Shipping and Transport Logistics*, 2(1), 4 - 21.

Lai, K.-H., Cheng, T. D., & Lun, Y. V. (2010). Shipping and Logistics Management. London: Springer.

Lai, K.-h., Lun, Y., & Cheng, T. (2012). A study on the antecedents of supplier commitment in support of logistics operations. *Int. J. Shipping and Transport Logistics*, 4(1), 5-16.

Lauritzen, G. D., Salomo, S., & Cour, A. L. (2013). Dynamic boundaries of user communities: exploiting synergies rather than managing dilemmas. *Int. J. of Technology Management*, 63(3/4), 148 - 168.

Leung, S. C., & Yue, W. (2004). A robust optimization model for dynamic empty container allocation probelms in an uncertain environment. *International Journal of Quantitative and Operations Management*, 10(4), 315-334.

Li, F., & Han, S. (2009). The Marine Reposition of Empty Containers under Uncertain Demand and Supply. 2009 6th International Conference on Service Systems and Service Management. Xiamen.

LIM, S.-M. (1998). Economies of scale in container shipping. *Maritime Policy & Management: The flagship journal of international shipping and port research*, 25(4), 361-373.

Liu, C., Jiang, Z., Chen, F., Liu, X., Liu, L., & Xu, Z. (2010). Empty container repositioning - a review. 8th World Congress on Intelligent Control and Automation (WCICA). Jinan.

Long, Y., Lee, L. H., & Chew, E. P. (2012). The sample average approximation method for empty container repositioning with uncertainties. *European Journal of Operational Research*, 222(1), 65-75.

Lun, Y. V., & Quaddus, M. A. (2009). An empirical model of the bulk shipping market. *Int. J. Shipping and Transport Logistics*, 1(1), 37-54.

Lun, Y., & Browne, M. (2009). Fleet mix in container shipping operations. *Int. J. Shipping and Transport Logistics*, *1*(2), 103–118.

Maersk Line. (2006, 01). *Container Shipping Trade Outlook*. Retrieved 07 11, 2014, from http://www.ncausa.org/files/public/container_shipping_trade_outlook.pdf

Maersk Line. (2013). *Maersk Line*. Retrieved 06 01, 2013, from www.maerskline.com: https://www.maerskline.com/link/?page=brochure&path=/our_services/adv2010/1003/transpacific&utm_source=sur charges&utm_medium=email_sc&utm_campaign=weekly_highlight1003

Marc, L. (2006). *The Box:how the shipping container made the world smaller and the world economy bigger* (9 ed.). New Jersey: Princeton University Press.

Mason, R., & Nair, R. (2013). Supply-side strategic flexibility capabilities in container liner shipping. *The International Journal of Logistics Management*, 24(1), 22-48.

Mhonyai, C., Suthikarnnarunai, N., & Rattanawong, W. (2013). New Concept of Container Allocation at the National Level: Case Study of Export Industry in Thailand. *Industrial Engineering Letters www.iiste.org*, 3(10), 65-80.

Miler, R. K. (2015). Electronic Container Tracking System as a Cost-Effective Tool in Intermodal and Maritime Transport Management. *Economic Alternatives, Issue 1, 2015*(1), 40-52.

Min, S., Roath, A. S., Daugherty, P. J., Genchev, S. E., Chen, H., Arndt, A. D., & Richey, R. G. (2005). Supply chain collaboration: what's happening? *The International Journal of Logistics Management*, 16(2), 237-256.

Mittal, N. (2008). Regional Empty Marine Container Management. New Jersey: Neha Mittal.

Moon, I., Ngoc, A.-D. D., & Konings, R. (2013). Foldable and standard containers in empty container repositioning. *Transportation Research Part E*, 49(1), 107-124.

Notteboom, T., & Cesar, D. (2012). The Worldwide Maritime Network of Container Shipping: Spatial Structure and Regional Dynamics. *Global Networks*, *Wiley -Blackwell*, 10.1111/j.1471-0374.2011.00355,x. <halshs-00538051 v 1>, DOI.

Notteboom, T., & Rodrigue, J.-P. (2009). The Future of Containerization: Perspectives from Maritime and Inland Freight Distribution. *GEO Journal*, 74(1), 7-22.

Olavarrieta, S., & Ellinger, A. E. (1997). Resource-based theory and strategic logistics research. *International Journal of Physical Distribution & Logistics Management*, 27 (No. 9/10), 559-587.

Olivo, A., Zuddas, P., & Di Francesc, M. (2005). An Operational Model for Empty Container Management. *Maritime Economics and Logistics*, 7(3), 199-222.

Peters, L. D., Johnston, W. J., Pressey, A. D., & Kendrick, T. (2010). Collaboration and collective learning:networks as learning organisations. *Journal of Business & Industrial Marketing*, 25(6), 478–484.

Qing-kai, J., Xiang-pei, H., & Li-jun, S. (2014). Empty container allocation: Status and perspectives. *Systems Engineering-Theory & Practice*, *34*(6), 1578-1586. Retrieved 07 30, 2014, from http://210.14.121.5:8089/wise/article?_dummy=dummy&id=1000-6788-201406001578

Qu, L., Chen, K., Hongli, B., Ma, J., & Tao, W. (2013). The Optimized Transport Scheme of Empty and Heavy Containers with Novel Genetic Algorithm. *Mathematical Problems in Engineering*, 2013(2013), 1-5.

Qu, L., Chen, K., Ma, J., Hongli, B., & Tao, W. (2013). The Optimized Transport Scheme of Empty and Heavy Containers with Novel Genetic Algorithm. *Mathematical Problems in Engineering*, vol. 2013, Article ID 434125, 5 pages, 2013. doi:10.1155/2013/434125.

Rattanawong, W., Suthikarnnarunai, N., & Mhonyai, C. (2011). Container Supply Chain Management: Facts, Problems, Solution. San Francisco, USA: Proceedings of the World Congress on Engineering and Computer Science.

Rezapour, T. Y., Atani, R. E., & Abolghasemi, M. S. (2014). Secure positioning for shipping containers in ports and terminals using WSN. 11th International ISC Conference on Information Security and Cryptology (ISCISC). Tehran.

Rightship. (2013, 05). *Calculating and Comparing CO2 Emissions from the Global Maritime Fleet* . Retrieved 10 01, 2016, from http://site.rightship.com/media/14710/Rightship_GHG_Emission_Rating.pdf

Ritala, P. (2009). Is coopetition different from cooperation? The impact of market rivalry on value creation in alliances. *International Journal of Intellectual Property Management*, *3*(1), 39 - 55.

Rodrigue, J.-P. (2013). The Geography of Transport Systems (3 ed.). New York: Routledge.

Rodrigue, J.-P. (2013). *The Repositioning of Empty Containers*. Retrieved June 01, 2013, from The Geography of Transport Systems: http://people.hofstra.edu/geotrans/eng/ch5en/appl5en/ch5a3en.html

Romano, J., Kromney, R., Coraggio, J., & Skowrone. (2006). Appropriate statistics for ordinal level data: should we really be using t-test and Cohen's d for evaluating group differences on the NSSE and other surveys? Cocoa Beach, Florida: Florida Association of Institutional Research. Retrieved 04 20, 2014, from http://floridaair.ore/romano06.pdf

Ross, A. D., Jayaraman, V., Rodrigues, A., & Mollenkopf, D. A. (2010). Repositioning of reusable containers in a sustainable global supply chain environment. *Journal International Journal of Mathematics in Operational Research*, 2(2), 178-204.

Sato, H. (2002). Management Strategy of Container Liner Shipping in the Age of Globalization. *The 2nd International Gwangyang Port Forum*. Gwangyang.

Savelsbergh, M., Erera, A. L., & Morales, J. C. (2005). *Global Intermodal Tank Container Management for the Chemical Industry*. Atlanta: School of Industrial and Sustems Engineering.

Scholz-Reiter, B., Haasis, H.-D., & Daschkovska, K. (2012). The cost-benefit model for secure container network. *Int. J. of Shipping and Transport Logistics*, 4(2), 157 - 171.

Scholz-Reiter, B., Makuschewitz, T., Wirth, F., Schonlein, M., Dashkovskiy, S., & Kosmykov, M. (2011). A comparison of mathematical modelling approaches for stability analysis of supply chains. *Int. J. of Logistics Systems and Management*, 10(2), 208 - 223.

Shao, F., Ho, L., Wu, J., & Liu, P. (2015). Efficient distributed maximum matching for solving the container exchange problem in the maritime industry. *International Conference on Big Data (Big Data)*. Santa Clara.

Shortsea Promotion Centre . (2012). Transport and the Environment 2012. Pori: Shortsea Promotion Centre Finland.

SLPA. (2012). Performance Review. Colombo: Ceylon Association of Shipping Agents.

SLPA. (2013). Port Performance Review. Colombo: Ceylon Association of Shipping Agents.

SLPA. (2015). Port Performance Review Circular No 9/2016 of 21.01.2016. Colombo: Caylon Association of Shipping Agents.

Smith, A. (1776). The Wealth of Nations (5th ed.). (E. Cannan, Ed.) New York: Bantam DEll.

Solesvik, M. Z., & Encheva, S. (2010). Industrial Management & Data Systems. 110(5), 701-717.

Solesvik, M. Z., & Encheva, S. (2010). Partner selection for interfirm collaboration in ship design. *Industrial Management & Data Systems*, 110(5), 701-717.

Song, D.-P., & Carter, J. (2009). Empty container repositioning in liner shipping 1. *Maritime Policy & Management: The flagship journal of international shipping and port research*, 36(4), 291-307.

Song, D.-P., & Dong, J.-X. (2011). Effectiveness of an empty container repositioning policy with flexible destination ports. *Transport Policy*, 18(1), 92-101.

Song, D.-W., & Panayides, P. M. (2002). A conceptual application of cooperative game theoryto liner shipping strategic alliances. *Maritime Policy & Management: The flagship journal of international shipping and port research*, 29(3), 285-301.

Soosay, C. A., Hyland, P. W., & Ferrer, M. (2008). Supply chain collaboration: capabilities for continuous innovation. *Supply Chain Management: An International Journal*, *13*(2), 160–169.

Stopford, M. (2009). Maritime Economics (3 ed.). Oxon: Routledge.

Sun, J., & Yang, Z. (2006). Analysis on the Synthetical Application of Empty Container Distributing and Leasing Strategy. *International Conference on Machine Learning and Cybernetics*. Dalian.

Tarter, C. J., & Hoy, W. K. (1998). Toward a contingency theory of decision making. *Journal of Educational Administration*, 36(3), 212-228.

The Economist. (2013). *The Humble Hero*. Retrieved 07 12, 2014, from http://www.economist.com/news/finance-and-economics/21578041-containers-have-been-more-important-globalisation-freer-trade-humble

Theofanis, S., & BoileMaria. (2009). Empty marine container logistics; facts, issues, and management strategies. *GeoJournal*, 74, 51-65. doi:10.1007/s10708-9214-0

Thoroe, L., Melski, A., & Schumann, M. (2009). The Impact of RFID on Management of Returnable Containers. *Electron Markets*, 19(DOI 10.1007/s12525-009-0013-3), 115-124.

Tidstro"m, A. (2009). Causes of conflict in intercompetitor cooperation. *Journal of Business & Industrial Marketing*, 24(7), 506–518.

Tsekouras, G., Poulis, E., & Poulis, K. (2011). Innovation and dynamic capabilities in a traditional service sector. *Baltic Journal of Management*, 6(3), 320-341.

Tseng, Y.-Y., Yue, W. L., & Taylor, M. A. (2005). The Role of Transportation in Logistics Chain. *Proceedings of the Eastern Asia Society for Transportation Studies*.

UNCTAD. (2011). *Review of Maritime Transport*. New York and Geneva: United Nations Conference on Trade and Development.

UNCTAD. (2013). *Review of Maritme Transport 2013*. New York and Geneva: United Nations Conference on Trade And Development. Retrieved May 13, 2013, from http://unctad.org/en/Docs/rmt2011ch6_en.pdf

UNESCAP. (2006). Study on Regional Shipping and Port Development Strategies: Container Traffic Forecast, Monograph Series on Managing Globalization. Retrieved 07 14, 2014, from http://www.unescap.org/sites/default/files/pub 2398 ch3.pdf

UNESCAP. (2007). *Regional Shipping And Port Development*. Retrieved 05 20, 2013, from http://www.unescap.org/sites/default/files/pub_2484_CH2.pdf

United Nations . (2009). United Nations Convention on Contracts for the International Carriage of Goods Wholly or Partly by Sea. Vienna: United Nations .

United Nations Office on Drugs and Crime. (2009). *UNODC-WCO The Container Control Programme*. Vienna & Brussels: World Customs Organization/United Nations Office on Drugs and Crime.

Victorian Auditor-General's Report. (2014). *Managing the Environmental Impacts of Transport*. Victoria: Victorian Government Printer.

W.S.C. (2011). *Container Supply Review*. Washington, D.C. 2000: World Shipping Council. Retrieved 07 26, 2014, from http://www.worldshipping.org/public-statements/2011 Container Supply Review Final.pdf

Wang, R., Zhao, X., Yu, W., & Zou, W. (2008). The Study on Empty Containers Allocation in the Container Transportation. *Proceedings of the 2008 IEEE IEEM*, (pp. 1678-1683). Singapore.

Wang, Y.-L., & Ellinger, A. D. (2011). Organizational learning Perception of external environment and innovation performance. *International Journal of Manpower*, *32*(5/6), 512-536.

Weinschenk, M. (2012). *The Forgotten Shipping Market Making a Killing*. Retrieved 07 18, 2014, from http://www.wallstreetdaily.com/2012/02/08/the-shipping-market-making-a-killing/

WSC. (2013, August 15). *Top 50 World Container Ports*. Retrieved August 15, 2013, from World Shipping Council: http://www.worldshipping.org/about-the-industry/global-trade/top-50-world-container-ports

Wu, M.-Y., Weng, Y.-C., & Huang, I.-C. (2012). A study of supply chain partnerships based on the commitment-trust theory. *Asia Pacific Journal of Marketing and Logistics*, 24(4), 690-707.

www.bimco.org. (2014). Container Shipping - High Level of Business Adjustments Ongoing As The Industry Intensifies The Hunt For Profitability. Retrieved 07 18, 2014, from https://www.bimco.org/Reports/Market_Analysis/2014/0617_ContainerSMOO2014-03.aspx

- Yapa, W. Y., & Nottebooma, T. (2011). Dynamics of liner shipping service scheduling and their impact on container port competition. *Maritime Policy & Management: The flagship journal of international shipping and port research*, 38(5), 471-485.
- Yen, K. P. (1994, May). *Strategic Alliances in the Liner Shipping Industry*. Retrieved 08 02, 2015, from http://www.tliap.nus.edu.sg/tliap/Project_SCG/docs/Reports/koay.pdf
- Yi, C. Y., Ngai, E. T., & Moon, K.-L. (2011). Supply chain flexibility in an uncertain environment: exploratory findings from five case studies. *Supply Chain Management: An International Journal*, 16(4), 271–283.
- Yi, L. (2012). *Maritime Empty Container Repositioning with Inventory-Based Control*. Department of Industrial and Systems Engineering, National University Of Singapore. singapore: http://scholarbank.nus.edu.sg/. Retrieved from http://scholarbank.nus.edu.sg/bitstream/handle/10635/36330/LuoY.pdf?sequence=1
- YUR, T., & Esmer, S. (2011). A Review of the Studies on Empty Container Repositioning Problem. *European Conference on Shipping & Ports 2011*. Chios: Europen Conference on Shipping & Ports.
- Zeng, Q., Ang, Z., & Chen, C. (2010). Robust optimization model for resource allocation of container shipping lines. $Tsinghua\ Science\ and\ Technology$, 15(5), 586-594.
- Zhang, Y., & Li, Y. (2016). Joint Optimization of Schedule and Route in Container Supply Chain. 2016 28th Chinese Control and Decision Conference (CCDC). Yinchuan,.
- Zhihong, J., & Qi, X. (2012). The Realization of Decision Support System for Cross-border Transportation based on the Multidimensional Database. *Journal of Software*, 7(5), 974-981.
- Zhou, L., Xu, X., & Deng, S. (2011). A multi-objective programming approach for designing complicated logistics network. *Int. J. of Logistics Systems and Management*, *9*(4), 419 437.